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If E=(F_.,...,E,> is a vector S—{elol, and 1f
E:VQ for  an  unknown ‘?‘, then we ?ino\

'F as ?o“OWS .

@Fgr each 1<2¢n, find  the antiderivative
o F o with cespect to X,

¢

@\A/\rﬁ'e the summands from @ for 1=,

Cvross out repeats For 25,

@Ao\d +he Y‘e\moin{V\S summands for =2

to  what was written in (D). Cvross out
repeats Sor 2>7.

@Cov\ﬁnue ’?or remaininj 2,

& A« constant , C




A swooth Fammewizeo\ curve C  in fRz

1S o\escri\oecl \o‘y eiua‘h’ons xX=x(t) , 3=g(t§/

and a<ts<b*® whece a,béﬂz ; and ')

’

and '3,1(1‘:) ave not both O $or +the same

volue of #. ¢ C[\f\
+Ferminal

initial point
point

X

I C s a swmooth )aaramefri?_ecg curve, then

-C  weans the same curve e.xceP‘l’ +Hravelled in

Fhe oP?osH'e divection.

I8 C, and C, ave smooth Parame-l—m'%ed curves,
then C,uC, means ravel alonj C, and +then

alona C,.

A curve 1S simF__lg,_ i¥ vt oloesn"i' intersect E‘I‘SQ.IF.
A curve s closed iQ its  initial Poin+ 's also
its  terwinal P°“ nt.

A simple closed curve is something o a Floppy

ci‘rc)e,.



To Paf‘ameﬂi?_e" o Stra SH line between
2
(a,b\ , (C,(D € FR y you can wr te Oitfl)

1=a+(c—a)t, and %“L‘)‘f‘(o(-‘:)t.

To parametrize the 3mPIn of 8,‘—"?(1>

between (a,?(a» and (b,?(b)), you can
wYite astfb, xX=1, and 3,=¥(t)

To Pa\rame‘hfize 13@(5»3 from (":(05,05
to (Q(\oB,b) ,  You dcan wwnite a<tg B)

x=¥(t), and ’zr‘:t.

IF PR =R, F=(FRE), is a
vector ?ie\i, then  we let cur\_l;ifggﬁﬂf

be the vector ?ic\o{

— —

C.[2s8 °r 3F, 3R oFR _dF
curl F (93 22 , 2% ox , 2% ;},



